() Inthepicture, PQ, RS, TU are tangents
to the circumcircle of A4BC.

Sort out the equal angles in the
picture.

(4) Inthe picture, the tangent to the circumcircle
Qy of a regular pentagon through a vertex is
f shown.

Calculate the angle which the tangent makes
with the two sides of the pentagon through
the point of contact.




AP=AR |
< A=180-(80 + 80) = 180 - 160 = 20° a
< BPQ = B
Z BQP = B0 I
JPEQ=EW ZB =860° i
< C=180- (60 + 20) = 100°

Theangles ofthe bigger triangle are 60°, 100°and 20°.

Qn. 2

The sides of the bigger triangle in the figure are the
tangents draw to the circum circle through the

vertices of the smaller triangle. Find out the angles
of the smaller triangle.

c
BP =BR, ZBPR = ZBRP = 70°
ZPQR =70°, AP =AQ
Therefore £ APQ =2 AQP =60°

Z/PRQ=60° /PQR =180 - (70 + 60)
= 180 - 130
= 50

Qn. 3
The lines PQ, RS and Tu in the figure are the tangents
drawn to the circum circle through the vertey of the

triangle of ABC. Write equal angle from the figure




Qn. 4 nts is drawn to the circumcircle in thaﬁ.a
 the vertex of the regular pentagop Finqu'"
throug tween the tangent and the Sideg m::i

e .
ang y thmughthecuntact point.

540
ZEAB = o 108°

In AABE, AB = AE
ZAEB = ZABE = 36°
ZABP = 36¢
£ZCQB = 36°
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